Tt ® OB W B B
® B2 2 & ik A E

TR (2023]) 82 %

e

all

TEREMBR iR SRR
KT Tk 2023 48 7-9 A S At PERIBAMGSE Sy
E

&S EANRBN:

e (EEMNU KR *F Tk 2023 £ e BEAEE
H MR E A (B _#) WHEH) (EMER (2023)
64 5) R ATHEEARBKFXTHTHEE 2023 FF _
RMBEHERESL SN EAXN T 2TEERAZRH LT
X&) (GCHE (2023) 41 5), ¥ 2023 £ 79 A %
A MR AL R A 10248 0 TRA AT (K440 it

AME), TTATHESESRNPHEERMIARAE, #75)

X\ 2023 £ — ﬁxfﬁﬁ—ﬂjwb/\%ﬂﬁ 2130599 H- i 3. [ A
RHERREE S MEFEA I, BRIFFEHZ5H9 X4
B “50205. ZEdk 557, %Fﬂu?ﬁﬁ?ﬁlﬁl.%uﬁﬂ‘:

HIEEER (PR BEERS S RIRXAH R4 T H
) (R (2021) 19 5D, WMEBH% 6 HE (AT vk
RITB RS 2 R IRXA RS ERATENEEERL (0t
K (2022) 4 5)  AZHA M BAERS 2 A REA KA



CERAE) (ZIR (2021) 140 5). AWM BT 6 3|7 (*
ThEme kL EMBEEERSE SRR L ERE
BWEHEEIY (ZHH (2022) 23 &) Fu (2 MW B é
G S HIRXA BT & EE A %) (B K (2021) 148 B)
 WAFAREBERESL, FERR. R, HFERERLE
eR%E. ARG, BIATE. PHREF. BAUESE WHE
IR AHBERNEALA RN EEFEY, RIALETHA
BB,

i 1. TR E 2023 4 7-9 A £ AN 3 M K AL AN IR 4
A

fEF 2: TGHEE 2023 4 7-9 A £ AT Az K AL R 4
%% Bk

a2
332300202

202347 F 2 H

V& ARTEKR AREER

T B AR 20234 7 H 2 H




B L

TLRE2023F 798 2 F Nt R AMNE R & LR

Fe| s | A e o/ | wmem i &
1 L4 85 8005/ 20. 4
2 | EAEH 23 80075/ A 5. 52
3 FHE 49 80075/ A 11.76
4 W 58 80035/ A 13.92
5 M % 24 8007/ A 5.76
6 THZ 30 800/ A 7.2
7 EAE 26 80075/ A 6. 24
8 i % 39 80075/ A 9.36
9 ZEY 67 8005%/ A 16. 08
10| ZEWb% 26 8007%/ A 6. 24

&1t 4217 102. 48




42
ToWE 2023 7-98 2 AR GG Bink

(20234EFE)
- JLIEE2023FE7-9H 24 WEGs : —
T H & 7% Oy E i m A A Hz, 13508789437
EEEHI] TLHEE SFIEME St B ST 105 EANREBUF
TEE SIS 102. 48 /70
HLEm ” = =
Pl b B 102. 4877 5%
HAhE 4
I EE B
1 HirL: AR ET R REFHSEESR, REFEEENEN I FEE A NEEEmE S
B =, AEREBERE.
2 BiR2: fRREET S EIL2TE 555550 AR R A O B 38 A0 R e A0 st L B o 2 )
= AR A FER B AT
BEIEIR kit €12 I % T Gk HEwE  |mEMEmEE
I B Bhr
RERE | 7 ommma | mat st IR |amieriae [miaun [me s A
BRI | R R R R }ﬁ@”ﬁﬁ ANBARHE e |BIAMESER |EEshn i}; i
AN (A | ) (*i‘%)i‘ 56) G IE) WA S
i 427 100% 100% 8007t/ A 102. 48 427 =95%
ST 4 85 100% 100% 80075/ A 20. 40 85 =95%
EHINEE %] 100% 100% 8007t/ H 5.52 23 =>95%
A T4 49 100% 100% 8007t/ A 11.76 49 =95%
ZW 2 58 100% 100% 80075/ H 13.92 58 =95%
W% 24 100% 100% 8007t/ A 5.76 24 =95%
FHZ 30 100% 100% 8007t/ A 7.20 30 =95%
ks 26 100% 100% 80075/ A 6. 24 26 =95%
Tih % 39 100% 100% 8007%/ B 9. 36 39 =95%
=EZ 67 100% 100% 8007t/ H 16.08 67 =95%
ml % 26 100% 100% 80075/ A 6. 24 26 =95%




